ﬁ, E julvis} E Multiplique decimais por 10.100.1000

Nome: Encontro: Data: Pontuacio:
7,343 x 10 = 2,353 % 10 =
5,258 x 100 = 8,09 x 100 =
7,639 x 10 = 4,715 % 10 =
1,396 x 100 = 7,519 x 10 =
6,738 x 1000 = 2,12 % 1000 =
5,01 x 10 = 8,295 x 100 =
9,223 x 100 = 7,516 x 100 =
4,585 % 100 = 1,204 x 10 =
4,38 x 10 = 5,902 x 10 =
3,595 x 1000 = 6,862 x 10 =
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ﬁ I m; E Multiplique decimais por 10.100.1000

Nome: Encontro: Data: Pontuagio:
7,343 x 10 =73.43 2,353 x 10 =23.53
5,258 x 100 = 525.8 8,09 x 100 = 809
7,639 x 10 = 76.39 4,715 x 10 =47.15
1,396 x 100 = 139.6 7,519 x 10 ="75.19
6, 738 x 1000 = 6738 2,12 %1000 = 2120
5,01 x 10 =50.1 8,295 x 100 = 829.5
9,223 x 100 =922.3 7,516 x 100 = 751.6
4,585 x 100 = 458.5 1,204 x 10 = 12.04
4,38 x 10 =43.8 5,902 x 10 = 59.02
3,595 x 1000 = 3595 6, 862 x 10 = 68.62
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